EOSC433/536 Final Exam Formula Sheet

7=C+0, tan ¢ 7=C"+(o,—U)tan ¢’

0,=0.5(c, +0,)+0.5(c, —o;)cos 28
7=0.5(c, —0;)sin 2

0,=05(c, +o,)+ 0.5[(O'X - O'y)2 + (ZTXY)Z]O‘S O'I:ZCCOS ¢1+_US;E1¢+ Sin ¢)
0,=0.5(c, +0,) - 0.5[(0X -0, = (22'Xy 3 ]0‘5

. ¢ o 2z
ﬂ—4+2 2 =tan (Gx_"ayJ

2
o, a

az
U= {(1 +k) = (1-k) {4 (1-v)- —2} cos26}

r

o, a’ a’| .
Uoo= = {(1—k)[2 (1—2v)+r—2} sm29}
2 2 4
Grrzlgv (1+k) 1_"’1_2 - (1-k) 1_4a_2+3a_4 cos 20
2 r r r
2 4
%:%av{(l+k)(1+a—zJ+ (1—k){1+3a—4j 00529}
r r
1 a’ La') .
Trezzdv{(l—k)[l+2r—2—3r—4] sm2t9}

_RQD _ J; Jw
= X — X ——
In Jao SRF

03 a
g1 = 03 + Oycs (mb_ + S)
Ouycs

o,=p9z T, =Pc -Pr oy =30, +T,-P¢c-P, o, = P,
. 2 _ 2
urzip" a urziP,+uo k= Ee a (az te) >
2G k (I+v,) (I-2v,)a"+(a—-t,)
o 1%
o,=pgz K==L K=——
o, I-v

ES = CcA+ M cosW,-U-Vsin¥ +T cosH]tan¢
Wsin'¥' ) +V cos'¥ - Tsind

1|Page



